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The Open University of Sri Lanka

Foundation Course in Science

Final Examination 2006/2007 R
MAF 1301/MAE 1301 - Pure Mathematics — Paper I -

Duration :- 1% Hours

Date :- 27-10-2006 Time:- 01.30 pot.— 03.00 pm.

Answer All questions.

For each question there are four suggested answers 1abéléd (a)', (b); .('c)' and (d). When you have,
~ selected your answer to 2 question, draw a Cross () on the letter for the answer you have chosen
in the Separate Answer Sheet provided. e

Mark only one answer for each question on the sep’ﬁraté answer sheet.

Where necessary do all'pomputations on the questioﬁ paper.' R

When you have finished answering, please attach your answer sheet at the top of this question

paper. Only the answers marked on the Answer Sheet will be considered for evaluation.

01. The value of (‘\/—27? is

(a) 9 ' (b) 3 (c) 1 {(d) 18.
£ xt™
02, is equal to
Tl
(@ £ () ¢’ ) £ @
03. If ! =—4+ B + then the values ofA, 8, Carc:

x(x+1)? x x+l (x+1)°
(@) A=1, B=-1, C==1
() A=-1, B=-1, C=1
) A4=-1, B=1, C=1
(d A=1,B8=1,C=1,
o4. If log,,s(x) == thenthe value of x is

2
3

@s O (©) 125 @ 1.




05. If A, W are the roots of the equation 5x+x+1=0,then

(a) A, p arerea]andl-l—pz% and 1}1:%

(b) A, are complex andlu=% and /1+;z=:5-1~

{c) A, 1L arerealand?u].l=-;- and J.+/,1=“?l

- 2
(d) A, 1 arecomplexand A+ p= —5—1 and Au= ?

06. The roots of the equation ax®+ bx+¢ =0 are o, and . Then the equation whose roots are
1 1 '

— and — ;g -

. B is:

(@) ex’ +bx+a=0 (b) A+ bx+at=0
() B +cx+a* =0 (d) ex> + bx+a=0.

07. If ccand B are the roots of the equation px+ gx + 1= 0, which was the incorrect answer.

(a) o+ B=—g/p (b) B =rip

(c) a..ﬁz,_#_,_Vq:Lpr (d) o+ B=

)2

q

20 20
2 ] =c,y? + cl_):"’(%]+....+cm(%] , then the sum of the cocfficient is

2 20 4\20 7 20 3 20
(a) [5] (b) (51 (c) (“3-] (d) {‘5—] :

. ,, 1Y . .
. In the expansion of (x' +— | , the term independent of x is

)
@ "c, ) "c, (© "cC, (d) 0.

. The polar form of the complex number /3 =/ is

(
T .

{a) 2 ccms-—+ism£ by 2 cos§£+fsin§£

L 6 6 0 6

,
(c) 2 coszr——i-isinzif—
L 6 6




11. If P(z)is any complex number represented in the argand diagram, the number Q(2z) is
correctly represented by :

(@ N P(z) ® A P()

0(22)

Sy
-

If (1-x)(1+x)>0then
(a) -1 <x and O0<x<]1

(c) -1<x<1

. 4cos’x—3cos x is equal to -

(a) cos 2x {b) cos E’)l

&

. Iftan 8 =1, thensin 20 is equal to

2 | 1—¢? 2t t?

d .
(@ 1+ ¢ ®) 1+ ¢ (<) P—1* () 2 +1

. The number of roots of the equationﬁcotl g - (\E + l)cot @ +1=0between 0° and 180° i
(2) 0 ® 1 () 2 (d) 3.

lim {sec(x+5x)— secx} _

& —0 &

(a) tanx sinx (b) sec x tan x (d) cosec’x.




If =1n|secx+tan‘x| then % =

(a) secx (b) cosecx” (c) cotx v (d) tan x.

18. Ifx=af* and y=2atthen % =

@ 2a o) 2 RN %

LA xz-i-yz=cz2 then Y.
dx
x -y : —-x '
(&) = ) (©) —= @
¥ Lox Ly A 4

LI y= sin” x + cos™x then P
dx

(a) cosecx () —Cosec x cotx _ (© 0 (d) —cotx.

21. The length of the line joining (cos @ cos f) to (sin a, sin ) is

(a) cos(azﬂ] (b) sin[a;ﬁ) | (¢} lsin(azﬁ} | (d) 2C05[a;ﬁ)

2. The mid point of the line joining (1, 3) to (3, 5) is

(a) (4,2) (b) (2,4 (c) -1,2) (d @,-D.

23. The gradient of the line perpendiculaf to the join of (rf,Zrt,) and (tf ,21.‘2) is
-1 a 1
(a) (t +1,) (b) —5—(11 +15) (c) E(rl +1t,) (d) (6, =1)

24. The line joining (1, 3) and (g, b) has unit gradient then
(a) b—a=2 - | (b) a—b=2 - (cYat+tb=2 (d) b—a=4.
25. The equation of the line through the origin and perpendicular to 3x +2y +4=01s
(a) 3x+2y=0 S (b) 2x+3y+1=0 (c) 2x~3y=0

(d) 2x—3y +1=0.

26. The equation of the line with gradient 2 passing th_rougi‘l the point {4, &) is :

(a) j—2x=k—2h | -(b).y“2x=k+2h () y+2x=k-2h (d) y+2x=k+2h

4




27. Thetwolinesx+y=0and yr=x+ / intersect at the point:

2 3 2 2 ) 2 2 2

-t [ | t ! —f7 =t
b) | —, c) | —, d ——
(®) 1—t 1-¢ () 1+¢ 1-¢ (@) 1+t 1—1¢

t
1+ 1+¢

(a)

28, The length of the tangent from (1, 2) to the circle x* + )+ 2x+y+4=01s

(a) 13 (b) V13 , (c) V12 (d) V11

29. The radius of the circle x> + ) + 2x + 2y —2 =0 is
@) 1 (b) 2 (© 3 (d) 4.

2x

30. The stationary values of y= >
l+x

(@) x=-1 and x=1 b) x=1lundx=0

() x=0 and x=-1 {d) no stationary values,
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03. @ (o @ 8. (@ ® (0 (@
M4 @ O © @ 9. @ 0 (© (4
05. (@ (® () (d) 200 @ () (9 (@
06. (@ (b) (¢) (d) 2. @ () (@ ()
07 @ ® (o) (@ 2. @ ® (@ (@
08. (@ (b () (d) 2. @ O (@ ()
O @ (b (O (@ . @ b (© (@
0. @ ® @ () 25, (@ () (¢ (d)
L@ ® (© (@ 26. @ (b (© (@
2. @ ® (© @ 27, (@ (b)) () (@)
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33 1

(14) an O = ¢ slcfledi, sin 20w LD aeHsdlaIDDIST OGNl gl.
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(a) O (b) 1 ©oe) 2 () 3.
(06) lim {scc(x+ci\')—-sec.\'} _
ox—0 ax _
(a) tanxsinx (b) sec v tan x (c) sec’y (d) cosec™y.
(l7)y=1nlsecx+tanx| a5 slenouled ol
elx
(a) secx (b) ‘cosec x (c} cotx (d) tan x.
u) . , . L dy
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(22)(1,3), (3. 5) astuaiaiions GG o BELLR:

(a) (4,2) (b) (2,4) () (~1.2) (d) @, -1).

(23) yenarfleser (fl‘,BI,),(132,2f3)a|)6§1u_|m1mﬁmm Bmemdgid Gamnligmne Lirriggana
Camigar LigHame:

" . _I |
(@) {#, +1,) {b) 7~(rI +6,) . (o) %(I, +15) (d) (1, =15)

(24) yetiefaen (1, 3), (a, h) STeuTUe QUGN Eam ot g1 DEenn L g e Ug&d@lmas  grevan e

() b—a=2 (b a-b=2 () a+b=2 () h—w=4,

(25) e_Busbdulgumrad Csdbaugeyd 3x+ 2y + 4 = 0 iy GlFmgs

v . » » .Q.-Jra'—)rra-jﬂ“
Glesdaugioran Gmmiped FLDGTUTL a0 &l

(a) 3x+2y=0 (b) 2x+3y+1=0 {c) 2x-3y =0
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S 17 -
(C) d P e —
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(a) 13 ' (b V13 ©) V12

(dy V11

9 - B
(29) aul'Lip x TY 20+ 2y -2 =0 Gengy &) @TUITE g

(a) 1 | (b) 2 {c) 3 (dy 4.
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(30) y=1—,— Bangl Hlensolren QLIDILOITGIBIRSITS  DI6|D6YEw:
+ X

(a) x=—1 2.1b x=19_b SyHWb. (b) x=12 bx=02.1b SBW.

{c) x=0 2 bx=-l2.1h Q& (d) Penevwmen  GLIpTeikiBalamen.




